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@a:lZcm,Ax:90° @ a=9cm, /x = T70°
® a=8cm, /x = 60° @ a=6cm, /x = 45°

® a=4.5cm, /x = 30°

B

30°:120°=3:a, 1:4=3:a
T a=12

30°:x=3:9, 30°:x=1:3
L /x = 90°
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2/x+60°+50°=180°
2/x="70°
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(CAD = 2/ABC

120° = 3/ABC
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@144" @ 146° ® 48° @ 150°

~&B

?

® 152°

g oztgel @ vzte] 2717}
(6=2) x180° _ oo olma JABC = 108°

1
/BAC = /ABE = /EAD = (180° - 108°) x 5 = 36°
£x = 108° — (36° + 36°) = 36°,
Ly = 180° — (36° + 36°) = 108°
" Lx+ Ly = 36° 4 108° = 144°
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@ 10° @ 12° @15° @ 16° © 18°
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/AOC = 180° x é = 30°, ABOC &= °]5H4Z% (OB = 0C)

(AOC = 2/x = 30°
L Lx =15°
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© 20° @30 @3 @ 45° ® 60°
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OA //BC °]2& /AOC = /OCB = /x ©]t}.

AOBC £ OB = OC ¢l o]zt golnzg

/OBC = /OCB = /x ©]|t}.

3/x+ /x + /x = 180°

5/x = 180°

L /x=36°
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/CAO = /DOB = 30° (‘&%1Z
£CAO = £ACO = 30° (~ OA=00C)
6 : 5.0ptAC = 30° : 120°
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